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y = .01 + .19*x. Slope t−stat is 56−4
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Markups and Quantity

y = .01 + −.46*x. Slope t−stat is −121−6
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Marginal Costs and Quantity

Variables demeaned by product−year FEs.
Markups, cost and quantity outliers are trimmed below and above 3rd and 97th percentiles.

y = −.01 + .08*x. Slope t−stat is 16−4
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Markups and Productivity

y = .05 + −.27*x. Slope t−stat is −49−6
−4

−2
0

2
4

Lo
g 

M
ar

gi
na

l C
os

ts

−6 −3 0 3 6
Log Productivity

Marginal Costs and Productivity

Markup and Marginal costs are demeaned by product−year FEs. Firm productivity is demeaned by the firm’s main industry−year FE.
For each variable, outliers are trimmed below and above 3rd and 97th percentiles.



y = 2 + .21*x. Slope t−stat is 32
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Firm productivity is demeaned by the firm’s main industry−year FE.
Productivity outliers are trimmed below and above 3rd and 97th percentiles.

Product Scope and Productivity

y = .42 + −.18*x. Slope t−stat is −50−3
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Multiple−Product Firms
Markups vs Product Rank

y = −.37 + .17*x. Slope t−stat is 43−4
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Multiple−Product Firms
Marginal Costs vs Product Rank

Markups and marginal costs are demeaned by product−year and firm−year FEs.
Markup and marginal cost outliers are trimmed below and above 3rd and 97th percentiles.



y = −0.37 + 1.06*x. Slope t−stat is −48−3
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Multiple−Product Firms
Markups vs Sales Share

y = 0.33 + −0.94*x. Slope t−stat is 41−4
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Multiple−Product Firms
Marginal Costs vs Sales Share

Markups and marginal costs are demeaned by product−year and firm−year FEs.
Markup and marginal cost outliers are trimmed below and above 3rd and 97th percentiles.


